A is inversely proportional to
B?, and when 4 =6,B = 5. A=l(- 6=l(— so. k =150 =ﬂ A=1-5-9=37.5

Find A when B =2 B? 2 B? 22

(a) yis inversely proportional 0= _\f_ = &Q

to x? and when y = 10, x = 2. 3" -\S- )= tj—’: 4—-9'2 ‘6 52
Find y when x=5 o i k.= 40 oC W= |- &

(b) y is inversely proportional k. 5=k d 2= D = \,3.::’

to x3, and y = 5 when x = 3. a‘-‘ s 33 3 I03
Find y when x = 10 C}C,g K = 1S Y = O-1325

(c) Ais inversely proportional Kk Sie = _\_(_ LBl le A = 270

to VB and when 4 = 90,B = 9. A= — Va ep=a 25
Find 4 when B =25 \]_é k = 206 JB A= B

(d) his inversely proportional
to V2 and h=3 when V =8.
Find h when V = 4
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(e) B is inversely proportional
to vC, and when B = 18,C = 16.
Find B when C = 0.36
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(f) y is inversely proportional
to x3, and y = 20 when x = 6.
Find x when y = 67.5
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(g) y is inversely proportional
to ¥x. When x =8,y = 4, find x
when y =0.8




